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CODE : 2506

CLASS-VI

MATHS (SECTION-A)

The greatest four digit number by using all digits | 1. |1 31® 7, 5, 2 BT TR HRD a1 AIH TS! 4-37h] B
7,5,2is: A& B—

(1) 7777 (2) 7752 (1) 7777 (2) 7752

(3) 7755 (4) 7527 (3) 7755 (4) 7527

Unit digit and tens digit of a two digit numberis | 2 T G 3l & AT BT gPBTS 3iH 31X TETS b HHI:
p and q respectively than correct representation p 3R q B, A1 ST 3] DI &A1 BT Hel Fad HJ &—
of two digit numberis :

(1) pa (2)10p +q (1) pa (2)10p +q

(3)10g +p @axp (3)10q +p (4 axp

How many whole numbers are less than 9? 3. foa goi G 9 | BIE B?

(s (29 (M8 (2)9

(3) 10 (4) Infinite (3)10 (4) 3rd

Division of two natural numberis________. 4, QUG AER HIfavre ___ BT |

(1) Natural number (2) Whole number (1) UTeRd HXET (2) t[lﬁ &l

(3) Integer (4) Rational number (3) yurias (4) o™ FE

Sum of all factors of 16 is : 5 16 % Gl UFAETS] Bl AN B

(1) 15 (2) 31 (1) 15 (2) 31

(3) 8 (4) 9 ()8 (4) 9

If a and b are whole numbers then : 6. I a3k b yol dEmg g, di—

Ma’>0 (2)a°<o0 Mma®>o0 (2)a<o0

(3)ab20 (4)ab£0 (3) a®>0 (4) a®<0

Mid point of chord are : 7. ST o1 W g

(1) Interior of circle (2) Exterior of circle (1) g & Ir=HId (2) g & 1=

(3) On circle (4) None of these @B) TR 4) DIg T2

Y% 1 B [o7v S8/ Space for Rough Work
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Which of the following can not true ?
(1) Chord of a circle can be smaller than radius.
(2) Chord of circle can be equal to radius
(3) Chord of circle can be greater than radius
(4) Diameter is not a chord of circle
Bisector of obtuse angle is always.
(1) Right angle
(2) Obtuse angle
(3) Greater than 60°
(4) Greater than 45°
360°is:
(1) One complete revolution
(2) Half of one revolution
(3) Sum of two supplementary angles
(4) Sum of two obtuse angle

Find angle between both hands of clock at 3:15AM.

(1) 0° (2) 5°
10
3) 7— 4) 6°
(3) 5 (4)
Angle between diagonals of Kite is :
(1) 90° (2) 180°
(3) 120° (4) 60°
What fraction of an hour is 15 minute?
1 2
1) — 2) —
M, @ 3
1 3
3) — 4) =
OF @

CLASS-VI
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.

2.
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o1 5§ & BT 9 81 8 Fhar g 2

(1) < @1 Sirar, 3o & Biel 8 Ao 2 |
(2) I @1 e, B5roa1 & aR7eR 8 Aol ¢ |
(3) I I Sita, B & 91 81 A 2 |
(4) =9, I Y SiYar 781 B B |

31D DIV BT TAIGHTOTS B &I B—

(1) FHBIOT

(2) rfdrepaTor

(3) 60° & 31fd®

(4) 45° 9 31fd®

360° 82—

(1) T qoi ey

(2) T TR BT AT

(3) B HHRS BIVN BT AN

(4) <1 AfAD PO BT AT

3:15AM TR B! & G4 a1 & Hed G1 DIV o—

(1) 0° (2) 5°

© 75 @) 6°

TqT @ fAw0T & He P17 971 B—

(1) 90° (2) 180°

(3) 120° (4) 60°

T gve @1 15 fAsie fovae wimr 28—
1 2

O] 2 ) 3
1 3

() Y (4) 2

Y% B P [T oiiTE /" Space for Rough Work
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14.  Match the column. 14,
Column-I Column-II -1l
N 6 . 6
(A) P 5 (W) ¢ (P) 5
2 20 2 20
® 3 @ 52 ® 3 @ 5
8 8 8 8
© 20 (" 40 © 20 (" 40
4 2 4 2
D) = — D) — z
©) 5 ©) % ©) - ©) %
(1 A-r, B-p, C-q, D-s (1) A-r, B-p, C-q, D-s
(2) A-p, B-q, C, D-s (2) A-p, B-gq Cr, D-s
(3) A-r, B-g, C-p, D-s (3) A-r, B-g C-p, D-s
(4) A-r, B-p, G, D-q (4) A-r, B-p, Css, D-q
395 3 9 5
15.  Find multiplicative inverse of _3+§_Z 15. 5 E_Z BT IOTHD FfTATH S BRI—
-33 20 -33 20
M > @ 9 M > (2 9
3 ﬁ 4 E 3 33 4 E
16.  Which one of the following is not a perfect square? | 16. <=1 # & SI==41 T& Yof a1 H=01 =18 2—
(1) 576 (2) 676 (1) 576 (2) 676
(3) 841 (4) 810 (3) 841 (4) 810
17. 15.009 - 2.61+12.908 is equal to : 7. 15.009 - 2.61 + 12.908 RT&R &—
(1) 15.368 (2) 25.307 (1) 15368 (2) 25.307
(3) 24.367 (4) 25367 (3) 24.367 (4) 25367

Y% P12 P [o77 S8/ Space for Rough Work
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18.  Which one of the following expression will give | 18.  f=feiRad # & DI ST &1 A 71 872
the smallest value among all?
(1) 40 x 30 + 20 - 10 (1) 40 x 30 + 20 - 10
(2) 10 x 40 + 20 - 30 (2) 10 x 40 + 20 - 30
(3) 30 x 10 + 40 + 20 (3) 30 x 10 + 40 + 20
(4) 30 x 20 - 40 + 10 (4) 30 x 20 - 40 = 10
19.  Which one of the following is not a composite [ 19. f=faRad & | BRI Ud AT T 781 22
number?
(1) 92 (2) 97 (1) 92 (2) 97
(3) 104 (4) 57 (3)104 4) 57
20. I The whole is greater than the part. 20. | Al umHARTHESIE |
Il. If two things are equal, than their sum is equal II. S 31 IR SRIER 2, AN STHT ANTHS T A Bl
to % of the one thing. % AT 2 |
(1) l'is true, Il is false () 1|, Il Taa B
(2) | is false Il is true ()| Taa e Il T 8
(3) Both | & Il are true OIENCEIREE
(4) Neither I nor Il are true (@) e RSN T ©
21. I Sum of two integers is always greater than | 21. | &I QUlii &1 INTHA Had S+& AR A AfTH EIdl
their difference. T
Il. Product of two integers is always greater than IIl. <1 Uil &1 qUHe Wad S9d HRThd 3 31fH
their quotient. BIATE |
(1) l'is true, Il is false () 1|, Il Taa B
(2) | is false Il is true ()| Taa e Il T 8
(3) Both | & Il are true OIENCEIREE
(4) Neither I nor Il are true (@) e RSN T ©

Y &1 @ [o17 OT7T8 / Space for Rough Work
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22

23,

24,

25.

.  The HCF and LCM of two numbers are 27 and
162 respectively. If one of the number is 54,
then the other number is 81.

Il. The LCM of smallest prime number and
smallest composite number is 4.

(1) l'is true, Il is false

(2) l'is false Il is true

(3) Both I & II are true

(4) Neither I nor Il are true

Simplify the expression

0.7% +(0.4+0.2)x(0.7)+(0.4x0.2)
(0.7+0.4)

(1 0.9

(3) 0.3

Solve :
(?)>x10=13230 +
(1) 10 (2) 25
(3) 125 (4) 0.5
Correct expression of 0.018 ?

)07
(4)0.4

(9.261= 7)

(1) T (2 ﬁ
18 1
3) 1000 (4) %6

CLASS-VI

22

23.

24,

25,

. a‘fﬂwaﬁzmtr.ﬂaﬁ?aﬂm.ﬂaﬁw@%l
I 379 W U GE&AT 54 &, 1 37T F&AT 81 811 |

Il HER BT UThd A1 3R Ha¥ BITT HI5g A&
B AN, 4 BT |

M 1|8, |l 7T

(2) | oA & 1l /e ©

@) 19l e 98 8

(4) AT 1 | 3R AT EN N FET B

TP Pl XA DR -

07> +(0.4+02)x(07)+(0.4x02)

(0.7 + 0.4)

(1 09 (2) 0.7
(3) 03 (4) 0.4
A BN
(?)> x 10 =13230 =+ (9.261+ 7)
(110 (2) 25
(3) 125 (4) 0.5
0.018 BT HEI WU T ?
.l 5 8
M 55 @) 200

18 1
(3) 1000 (4) %6

Y% 1 B [o7v S8/ Space for Rough Work
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MAT (SECTION-B)

Mayank travels 20 km westward and then turns
left and travels 12 km. Then he turns left again and
travels 55 km. How far is Mayank now from the
starting point ?

(1) 27 km (2) 36 km

(3) 23 km (4) 37 km

If WIDOWER is coded as VKAOXCU, then how
would FORTIFY be coded ?

(1) EQOTJDB (2) GMUSHDV

(3) EOQSJCD (4) EPPTHDC

Select the venn diagram that best represents the
relationship between the following :

Athlete, Boy, Student
@ =@O

2000 9

26.

27.

28,

T 20 farHt uf¥em @t SiR AT v 2 iR fhw &g
ol 2 3R 12 fhH) =refd & g8 v 9 91¢ goa 8 3iR
55 TehHT AT HRAT & 7D 3F YRS fig A foheril

Re?
(1) 27 f (2) 36 ol
(3) 23 foHit (4) 37 fe

Ife WIDOWER @1 VKAOXCU & w4 H ®Ifsd faban
SITAT 8, 1 FORTIFY &1 &Y ifed foar S ?

(1) EQOTIDB (2) GMUSHDV

(3) EOQSJCD (4) EPPTHDC

T I 3R BT T B Gl (FfeIRad & S Hael
DI Haiaq ©U § a8 —

qereiie, oree, faenei
(DO

(D@
»O00 9

YE @1 B 77 57778/ Space for Rough Work
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29.

30.

31

32

33.

Select the venn diagram that best represents the
relationship between the following :

Police, Uncles, Mothers
Q@D «QO

2 OO0 w(@

Which number from the options will replace the
question mark (?) in the following series ?
240,120, ?,180, 360, 900

(1) 120 (2) 148

(3) 150 (4) 130

Which number from the options will replace the
question mark (?) in the following series ?

11,13, 16, 24, 41,67,102, ?

(1) 251 (2) 215

(3) 152 (4) 125

Sisson of M, R is father of Q and A, A is daughter
of M, what is A relatedto S ?

(1) Daughter (2) Father

(3) Sister (4) Aunt

P is the father of Q and R is the son of S. T is the
brother of P. Q is the sister of R. How is S related
toT?

(1) Brother-in-law
(3) Brother

(2) Sister-in-law
(4) Daughter

CLASS-VI

29.

30.

31

32

33

CLC
|tecnds

Gﬂéﬁaﬁﬁfﬁ[ﬂ'ﬂ?aﬁﬁﬁﬁﬁlﬁlﬁqﬁfﬁﬁﬂw
Bl FaraH wY § <9idr g —

gloﬂ-l didl/ Wl 1TIFI'I";’
@ QO

»O00 «@D

FfoRad siEer 3 [aed] 5 | U] TR URaTed
g (?) @1 ufoRenfod &l ?

240,120, ?,180, 360, 900

(1) 120 (2) 148

(3) 150 (4) 130

FefeRad siaEer 3 e 5 A DI TR Uedred
g (?) @1 ufoRenfod &l ?

11,13,16, 24, 41, 67,102, ?

(1) 251 (2) 215

(3) 152 (4) 125

S, MBITAE, R, QIIRABIUAE, A, MBI AT 2, I
A DTS T G & ?

VEE (2) foar

(3) & (4) TR

P,Q® AT RSIRR, SHIYAR | T, PHIHIE 8, Q, R
g81g, S, TH fhd yoR Gdfda g ?

(1) TR
(3) w8

(2) \r+fl
(4) 91

Y% 1 B [o7v S8/ Space for Rough Work
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Two different positions of a dice are shown, each
of whose six faces is marked with a number from1
to 6. Select the number which will be on the face
opposite to the face showing 3 ?

(3) 5 (4) 2
Identify the option figure that completes the
pattern in the equation figure.

?

CLC das CLASS-VI

34.

35.

CODE : 2506

T U &1 & 3Tl —37el Rerfeai geris ¢ 8, foras
T B: HeTdl TR 13 6 T B Yh—h F&T 3ifha B |
TSI AT BT T P ST 3 i arel BeAd B
Ui Wt uR Bl ?

me (2) 4

()5 (4) 2

I fIae MTPHI DI ygar A1 U MphcT # Ues ol
ORT e © |

)

1%

G)

YE @1 B 77 57778/ Space for Rough Work
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36. Select the correct mirrorimage of the given figure. | 36. &1 718 3MTepid &I Tl a4 BII

N

(1 L% @ ‘Q () Q
(3) u (4) :U € ﬁ:ﬂ (4) g

37.  Select the correct mirrorimage of the given figure. | 37. <1 71 3M®Hfa @1 W&l gUvI B3 H1 T3 AN |

Al Al

Y& P12 P [o7 S8/ Space for Rough Work
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38.

39.

40.

tecnd
The sequence of folding a piece of paper and the
manner in which the folded paper has been cut is
shown in the following figures. How would this

paper look when unfolded ?

——

y
v T
v v A v
A a v a
Mla a @]|a v
v v v A
2 & 2 &
vav v v
B)|ava @D|a a
v v v v

If two signs, '+ and x' and two number 2 and 8' are
interchanged. What will be the value of the
following equation ?

4x8+2=7
(1) 14 (2) 15
(3) 16 (4) 8

After interchanging the sign x and +, what will be
the value of the given equation.
M+13-24%x3+2=7

(1) 12 (2) 10

(3) 6 (4) 8

CLASS-VI

CODE : 2506

17 November, 2024

38, BIISI & U S Pl AISH B HH 3R TS §U BTG Pl

39.

40.

B D TRl DI (FfIRId el # fa@mn T 2 |
W™ TR T BT 4T fgzam ?

—

N
v T
v v A v
A & v a
M|a a 2]|a v
v v v A
2 & 2 &
vav v v
B)|ava 4 |a a
v v v v

Ife g1 foreg, '+ 3R x' 921 &1 37d 2 3} 8' &l MU |
geof fe=am wrar 2 | fe=felaa gfiexor o1 79 @
BT ?

4x8+2=7
114 (2) 15
(3)16 (4) 8

g x 31X + BI 3MUN H gaa TR Y Y FHIaR 01 &
H I 8 |

M+13-24%x3+2=7

M 12 (2) 10

()6 (4)8

Y &1 @ [o17 57778/ Space for Rough Work
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4.

42,

43,

45,

CLASS-VI
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PHYSICS (SECTION-C)

Which unit would be most appropriate for

measuring thickness of a hair ?

(1) cm (2) um

(3) dm (4) m

Which of the following represents uniform

velocity?

(1) A car moving with constant speed on a curved
road.

(2) Revolution of earth around sun.

(3) A swinging pendulum.

(4) Light rays in space.

Pranav travels 300m north and then turns right

and travels 400m, his displacement is :

(1) 500m (2) 700m

(3) 300m (4) 400m

If a student travels with as speed of 10m/s from

home to CLC and returns with a speed of 5m/s.

Then his average velocity during this journey is-

(110 m/s (2)5m/s

(3)7.5m/s (4) Zero

Image formed by plane mirror is -

(1) Real & inverted

(2) Real & upright

(3) Virtual & inverted

(4) Virtual & Erect

a.

42,

43,

45,

foreht a1e1 @ AIeTE AU & fo W Sugad B A
SHTE BN ?

(1) cm (2) um

(3) dm (4) m

=1 5 Q@ B4 91 v 99 @1 ufafaie srarg ?

(1) T T S UR Yh AT el | Fiell g8 DI |

(2) 91 &1 G B sa—1TG FFHR T |

(3) TP oA 3T llel |

(4) 3ifRer & wepTer @ fanxo |

UG 300m ST frem # ST 2 2 a1 4} 400m
3R FeIdT 8, adl ST IR+ 81 —

(1) 500m (2) 700m

(3) 300m (4) 400m

Ife #1E faened e | CLC d& & & 10m/s B arel
H T HIAT & TAT 5m/s @ AT A I8 MU Al Sl
2 | A1 399 I H @1 AT I BT —

(m10m/s (2)5m/s

(3) 7.5 m/s (4) =

FHAA U0 | g9 drent ufafdd g g —

(1) IRGAF 9 ST

(2) a=<dfa® a e

(3) 3M9RAT T et

(4) IMRAT g e

YE @1 B 77 57778/ Space for Rough Work
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48.

49,

50.
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Which phenomenon allows you to see yourimage
in a mirror ?

(1) Reflection (2) Refraction
(3) Absorption (4) Diffusion
Which phenomenon splits light into seven colours?

(1) Reflection (2) Refraction

(3) Absorption (4) Dispersion

Which of the following instruments do not use
concepts of optics to work ?

(1) Electroscope (2) Microscope

(3) Telescope (4) Periscope

Wind mill is operated by -

(1) Electrical energy

(2) Mechanical energy

(3) Chemical energy

(4) Wind energy

Which one of the following is not a unit of force?
(1) Newton (2) Dyne

(3) Kg ms™2 (4) Torr

CLASS-VI

46.

47,

48.

49,

50.

CODE : 2506

DA Ufeha1 STuen! U1 H 3191 Bid S @ srHfd
qarg’?

(1) TRTad= (2) 3rgad=

(3) 3@yl (4) faa=oT

DI U AHE YBreT &1 |id 0 H Qi
e

(1) URTEH (2) 3TUac=

(3) 3rgeiyol (4) IR

=1 5§ | DI SUBRT BRI BRA B o7 upirent
fASIT &1 U 181 Rl ?

(1) fgaasi (2) Sgereett

(3) gxaE (4) aReEl (URwDIT)
qg= TeFp] TATS STl & —

(1) faega Suii gt

(2) TP SOl gRT

(3) AT Foll gRIT

(4) ga= Soft R

31 o o DI A T a1 D) SpTs el & 7
(1) e (2) S139)

(3) Kg ms™ (4) R

Y% B @ o1y S8/ Space for Rough Work
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CHEMISTRY (SECTION-D)

CODE : 2506
51.  The materials which allow light to pass through
them completely are called :
(1) Transparent (2) Metal
(3) Lustrous (4) Opaque
52.  What is a property of a material that allows it to
return light and making it shiny ?
(1) Lustre (2) Transparency
(3) Solubility (4) Hardness
53.  Which property of material is important for
packaging food ?
(1) Solubility (2) Transparent
(3) Non-reactivity (4) Lustrous
54. Which one is good conductor of heat and
electricity
(1) Carbon (2) Copper
(3) Chlorine (4) Oxygen
55. Saltis obtained from sea water by which process

(1) Sedimentation
(3) Distillation

(2) Evaporation
(4) Sublimation
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The process used to separate slightly larger size
particles from a mixture by hand is called ?

(1) Evaporations (2) Winnowing

(3) Sieving (4) Hand picking

In @ mixture of sand and water heavier sand
particles settle down at the bottom and the water
can be separated by :

(1) Evaporation (2) Sedimentation

(3) Decantation (4) Distillation

Correct order of compressibility is :

(1) Liquid < Gas < Solid

(2) Solid < Liquid < Gas

(3) Gas < Liquid < Solid

(4) Solid < Gas < Liquid

Which have definite shape and volume

(1) Solid (2) Liquid

(3) Gas (4) All of these

What happned in the process of soil conservation
is :

1) Soil is protected against loss

2) Fertile soil is converted to sterile soil

3) Soil erosion

4) None of these
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BIOLOGY (SECTION-E)

Plant parts which cannot be eaten are called
(1) Edible (2) Non-edible

(3) Omnivores (4) Herbivores

The plant products used as ingredients for making
tea are -

(1) Only sugar and tea leaves

(2) Only tea leaves and water

(3) Only stem, and leaves of tea plant

(4) Sugar, tea leaves, water and milk

What is the primary function of proteins in the
body ?

(1) Energy production

(2) Building and repairing tissues

(3) Regulating body temperature

(4) Elimination of waste matter

What is the primary symptom of calcium
deficiency?

(1) Weak bones (2) Muscle cramps

(3) Fatigue (4) All of these

Read the following statements regarding a food
component -

(i) Itis presentin rice and potatoes.

(i) Itis broken down into glucose in our body.
Identify the food component amongst the
following.

(1) Carbohydrate
(3) Vitamin

(2) Protein
(4) Roughage
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Excess loss of water from the body leads to _
__(ii)__isrecommended for such patients.

(1) (i) Dehydration, (ii) Oral rehydrating

—()—

solution
(2) (i) Constipation, (ii) Oral rehydrating
solution
(3) (i) Diarrhoea, (ii) Vegetable oil
(4) (i) Anaemia, (if) Iron

Which process occurs in leaves to produce energy?

(1) Respiration (2) Photosynthesis

(3) Transpiration (4) Fermentation

What is modified stem which helps a plant to
climb called ?

(1) Tendril (2) Thorn

(3) Prickle (4) Branch

Which one of the following statement is correct ?
: Money plant and beanstalk take
support of neighbouring structures for climbing.
Statement-Il : Money plant and beanstalk have
weak stems which cannot stands upright.

(1) Statement-I

(2) Statement-Il

(3) Both statements are correct

(4) Both statements are incorrect

What happens to energy as it moves up a food
chain?

(1) Increases (2) Decreases

(3) Stays the same (4) Fluctuates

Statement-I|
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